Government of UT of Jammu & Kashmir THE SUPERINTENDING ENGINEER (JAL SHAKTI DEPARTMENT)

HYDRAULIC CIRCLE PULWAM HQ: SHOPIAN

Allotment Order No. SE/HYD/SPN/Allot/JJM/ D3 of 2023-24 Dated: 28 /61/2023.

subject:

Laying and fitting of Delivery and Distribution Mains consisting of GMS tubes and Ductile Iron pipes of different nominal bores along with pipe fittings and control valves for Water Supply Scheme Rampathri-B of Division Shopian of Kashmir Province of UT of J&K Under Jal Jeevan Mission.

Ref:

- i. Executive Engineer Jal Shakti PHE Division Shopian's E-NIT No. 39/JSDS of 2022-23, dated: 03-11-2022.
- ii Minutes of meeting DIJM Shopian and approval thereof held on 10-08-2022 issued vide No. DDCS/IJM/22/1441, dated: 25-08-2022.
- iii. This office Letter of Intent issued vide No. SE/Hyd/Spn/DB/6254-57, dated: 24-12-2022.
- iv. Accord of administrative approval order No. CE/PHE/DB/202 of 05/2021, dated: 21-05-2021 issued by Chief Engineer Jal Shakti (PHE) Department Srinagar Kashmir vide No. CE/PHE/DB/8431-39, dated: 21-05-2021.
- v. Technical Sanction order No. CE/PHE/DB/ 178 of 08/2022 dated: 31-08-2022 issued by Chief Engineer Jal Shakti (PHE) Department Srinagar Kashmir vide No. CE/PHE/DB/18561-65, dated:31-08-2022.

Advertised Cost: Rs. 243.41 lacs (Rupees Two Crore forty three lac and forty one thousand only).

Rs. 247.01 lacs (Rupees Two Crore forty seven lac and one thousand only). Alloted Cost:

Head of Account: MH-4215 JJM.

ORDER

For and on behalf of Lt. Governor of J&K Union Territory contract for "Laying and fitting of Delivery and Distribution Mains consisting of GMS tubes and Ductile Iron pipes of different nominal bores along with pipe fittings and control valves for Water Supply Scheme Rampathri-B of Division Shopian of Kashmir Province of UT of J&K Under Jal Jeevan Mission " is hereby allotted in favour of M/S Biocare Techno Solutions Prop: Sh. Rakib Yousuf S/o: Mohd Yousuf Bazaz R/o: 138-Bazaz Manzli Rajbagh, Srinagar bearing Registration No. SHEP/CE/AAY/Civil Sanitary/001 at the rates approved as Shown in "Annexure A" to this allotment order.

Performance security deposited by contractor vide CDR No. 4264119, dated: 09-01-2023 for an amount of Rs.750000.00 is being retained as Security deposit in the Circle office.

Terms and conditions:

The contract shall be governed by the following terms and conditions:

8. The cost of work in no case exceed beyond Rs. 247.01 lac (Rupees Two Crore forty seven lacs and one thousand only).

The date of start of the subject work shall be reckoned from the date of Issuance of this allotment order/L.O.I. Given the fact that Letter of Intent stands already stands issued by the Executive Engineer PHE Division Shopian vide his letter No. SE/Hyd/Spn/DB/6254-57, dated: 24-12-2022. In case of failure to start the work within three days of issuance of this allotment order/L.O.I action as warranted shall be initiated.

10. As soon as letter of award is communicated to the firm, the contract shall be complete and binding upon them, the bidder/firm shall also be required to execute an agreement with the competent authority within seven days from the competent authority within seven days from the date of issue of letter of award. Failure to execute such an agreement in time shall not however, propert this agreement this agreement to execute such an agreement of the however, prevent this contract from being enforced against the firm and the date of delivery of material/completion of the date of delivery of the date of delivery of the material/completion of the date of delivery of the material/completion of the date of delivery of the date of the date of the date of delivery of the date of the dat material/completion of works shall be reckoned from the date of issue of LO.I/allotment in favour of successful firm. successful firm.

11. Performance security equivalent to 03% of the valve of the contract which works out to Rs.750000.00 /- shall be retained by this office till the work is be retained by this office till the work is completed and DLP is over.

12. The work shall have to be completed within a period of 180 working days from the date of issuance of this allotment order/LO I failing which provides allotment order/L.O.I failing which penalty upto 10% of the total value of contract shall be imposed upon you.

The defects Liability period shall be face and the face of the total value of contract shall be imposed upon you.

13. The defects Liability period shall be for a period as mentioned in Standard Bidding Document/II Nit which shall

commence after the successful completion of Trial run, during the defects Liability period (DLP) the agence to operate & maintain the scheme as it is required for its successful run. commence are a maintain the scheme as it is required for its successful running & as per Standard are aring Practices, to the full satisfaction of the department. The agency of the second are product to the successful running as per Standard are product to the second are successful running as per Standard are product to the second are successful running as per Standard are product to the second are successful running as per Standard are producted as pe have to opportuning as per Standar Engineering Practices, to the full satisfaction of the department. The agency shall be responsible to make the property of engineering at his own expense any defect in works which is noticed during the DLP. In case any defection of DLP, the department good & Innattended by the agency at the completion of DLP, the department may extend the DLP for such remains and conditions and technical specifications and conditions and technical specifications and specifications and technical specifications are specifications.

time as a second terms and conditions and technical specifications shall remain the same as laid down in the Standard and Portugent of the subject e-NIT and Terms & Conditions thereof read with the All other terms of the subject e-NIT and Terms & Conditions thereof read with the corrigenda, DJJM Minute

Superintending Engineer Hydraulic Circle Pulwama Hq: Shopian.

No. SE/HYD/SPN/Allot/CC/ 59/-96 Dated: 20 10 4/ 2023. Copy to the:

- 1. Mission Director JJM J&K Civil Secretariat Srinagar/Jammu for favour of information.
- 2. Chief Engineer Jal Shakti (PHE) Department Srinagar for favour of information.
- 3. District Development Commissioner Shopian (Chairman DJJM Shopian) for favour of information.
- 4. Executive Engineer Jal Shakti (PHE) Division Shopian for information and necessary action. He is directed to get the work executed as per approved drawings/specifications within allotted cost.
- 5. TO/HD Circle office for information and record.
- 6. M/S Biocare Techno Solutions Prop: Sh. Rakib Yousuf S/o: Mohd Yousuf Bazaz R/o: 138-Bazaz Manzil Rajbagh, Srinagar for information.
- 7. File.

"Annexure A"

and fitting of Delivery and Distribution Mains consisting of GMS tubes and Ductile Iron pipes of different hores along with pipe fittings and control valves for Water Supply Scheme Removal in the control valves and fitting of Delicery and Control valves for Water Supply Scheme Rampathri-B of Division washmir Province of UT of J&K Under Jal Jeevan Mission. bores along the province of UT of J&K Under Jal Jeevan Mission.

Allotment Order No: SE/HYD/SPN/Allot/JJM/ 03 of 2023-24, Dated: 28 104/2023.

5.No	Item of Work	Unit	Qty.	Adv. rate	Amount
1	Earth work in excavation by manual means in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed:All kinds of soil:1 meter from cutting edge.	cum	12969.3	436.00	5654614.800
2	Earth work in excavation by mechanical means (hydraulic excavator) in trenches for foundations, drains, pipes, cables etc. (not exceeding 1.5 m in width) and for shafts, wells, cesspits and the like not exceeding 10 sqm on plan, including dressing of sides and ramming of bottoms lift upto 1.5 m, including getting out excavated earth and disposal of surplus excavated earth as directed, within a lead of 50 metres:All kinds of soil:	cum	8646.2	252.05	2179274.710
3	Laying in position centrifugally cast (spun) iron S&S or flanged pipes (excluding cost of pipe).100/150/200mm dia D.I pipe	qtl	6134.92	245.55	1506429.606
4	Providing push-on-joints to Centrifugally (Spun) Cast Iron Pipes or Ductile Iron Pipes including testing of joints and including the cost of rubber gasket.				
4.1	200 mm địa	each	382	213.00	81366.000
1.2	150 mm dia	each	1636	144.70	236729.200
4.3	100 mm dia	each	2909	89.70	260937.300
5	Laying and fitting of G.I. pipes (all classes) complete excluding cost of pipes, fittings and Earth work.40 mm and 50 mm dia. G.I. pipes				
5.1	80 mm dia. Gl pìpe	mtr	10500	73.05	767025,000
5.2	65 mm dia. Gl pipe	mtr	9800	73.05	715890.000
5.3	50 mm dia. Gl pipe	mtr	8200	40.80	334560.000
5.4	40 mm dia. Gl pipe	mtr	12000	40.80	489600.000
5.5	25 mm dia. Gl pipe	mtr	13500	30.65	413775.000
S.6	20 mm dia. Gl pipe	mtr	15300	20.25	309825.000
6	Making connection of G.I. distribution branch with G.I. main of following sizes by providing and fixing Tee, including cutting and threading the pipe etc. complete				h Barragan again
6.1	25 to 40 mm nominal bore				73287.500
6.7	50 to 80 mm nominal bore	each each	70	1268.75	88812.500
7	Providing and fixing C.I. sluice valves (with cap) complete nuts, rubber insertions etc. (the tail pieces if required will be paid separately).				
7.1	200mm dia (Class I)		-	11095.35	22190.700
		each	2		*

	of Delivery and Distribution Mains consisting of GMS to the state of Delivery and Distribution Mains consisting of GMS to the state of Delivery and Distribution Mains consisting of GMS to the state of Delivery and Distribution Mains consisting of GMS to the state of Delivery and Distribution Mains consisting of GMS to the state of Mark to the			ated: 28	
1	Allotment tem of Work	Unit	Qty.	Adv. rate	Amount
L	n, iriss II	each	10	6508.50	65085.000
1	150mm dla (Class I)	each	10	4597.85	45978.500
13	100mm dia (Class I)				128678.750
8	providing and fixing C.I. double acting air valve of approved quality with bolts, nuts, rubber insertions etc. complete (The tail pieces, tapers etc. if required will be paid separately).50 mm dia.	each	25	5147.15	
9	Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end):80mm nominal bore	each	15	2406.65	36099.750
0	Providing and fixing gun metal gate valve with C.I. wheel of approved quality (screwed end):65mm nominal bore	each	15	1568.85	23532.750
1	Manufacturing/fabrication and fixing of M.S surface box/chambers of size (0.60x0.60x0.75m) made out of 6mm thick MS sheet using 40x40x5mm angle iron for frame including cutting, hoisting and fixing in position incl. all locking arrangements, handles hinges etc and applying priming coat of approved steel primer. The job includes providing and laying of cement concrete 1:2:4 on the base of frame to be embedded in, including all sorts of carriages involved for the completion of the job. The job is to carried out as	No.	20	11000.00	220000.000
2	per the directions of Site-incharge.complete job. Providing of FHTCs to every unconnected household including cost of 15mm to 20mm dia G.I pipe for a length of 6 to 20 mtrs with G.I fittings /specials incl. laying & fitting of pipes ,earth work in excavation and refilling.The job includes providing and fixing of Water Meters. complete job.	No.	1549	3850.00	5963650.000
3	Supplying, Installation, Commissioning and Testing of Electromagnetic Flow Meters of ISI/ reputed Make (.The item includes fabrication of M.S tail pieces, flanges, nuts bolts, R.I cloth etc., cutting of existing supply line, welding, wiring from panel board to site of installation complete as per requirement of site incl cost of RCC protective chamber of suitable size incl cost of M.S covers, ladders etc. complete job.				
3.1	150 mm dia	No.	2	29700.00	59400.000
3.2	100 mm dia	No.	3 ′	25300.00	75900.000
14	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20 cm in depth, consolidating each deposited layer by ramming and watering, lead upto 50 m and lift upto 1.5 m.	cum	19454	198.70	3865509.800
15	Carriage of material from source upto dumping site by mechanical means incl. loading, unloading and stacking complete.				000
15.1	200 mm dia D.I pipes from Divi store for 3 km avg.lead	mtr	2100	10.22	21452.000
15.2	150 mm dia D.I Pipes from Divi store for 15 km avg.lead	mtr	9000	12.44	111960.000
15.3	100 mm dia D.I Pipes from Divi store for 15 km avg. lead	mtr	16000	7,47	119520.000
15.4	Below 100mm dia G.I pipes from Divl store for 19 km avg. lead	M.T	250.24	346.84	86793.242
16	Extra Carriage of material from dumpling site to actual site of work by manual means (Head load).				34587,000
16.1	200mm dia D.I pipe for lead of 350mtrs		2100	16.47	

a a	of pelivery and Distribution Mains consisting of pelivery and Distribution Mains consisting of pelivery and Distribution Mains consisting with pipe fittings and control valves along with province of UT of J&K Under Jal Jeevan Minnir Province of UT of J&K Under Jal Jeevan Minnir Province of UT of J&K Under Jal Jeevan Minnir Province of UT of J&K Under Jal Jeevan Minnir Province of UT of J&K Under Jal Jan	ng of GM for Wate	S tubes a r Supply	and Ductile Iro Scheme Ram	on pipes of differen pathri-B of Divisio	
Kak	Province of Overland Province					
Affor	Item of Work	Unit	Qty.	Adv. rate	Amount	
low somm	dla D.I pipe for lead of 300mtrs	mtr	9000	10.11	9090.000	
*00mm	dia D.1 pipe for lead of 400 mtrs	mtr	16000	8.40	134400.000	
96.3 Optow 1	00mm dia G.1 pipes for lead of 350 mtrs	M.T	250.24	491.00	122867.840	
4 BEIOT	Total				24340731.94	
Add 2% o	on all items except item No. 11, 12 and 13 (13	+360435.63				
	Net Allotted Amount				1701167.57 Crore forty seven lac one hundred and six	

Superintending Engineer

Hydraulic Circle Pulwama/Shopian